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DELHI PUBLIC SCHOOL,SRINAGAR

MODEL TEST PAPER

NAME: CLASS /SEC.: I/

ROLL NO.: DATE :

SUBJECT:MATHEMATICS GRADE:

Ql. Tick (V) the correct answer.
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Which is smaller 46 or 36
36 b. 46

The number before 40 is
39 b. 41

Which one is correct.
32 > 30 b. 37 >39

What is the correct spelling of 12
Twelev b. Twelve

What is 2 tens and 7 ones equal to
27 b. 72
What comes in between 34 36
37 b. 35
14 + 0 =
0 b. 14

The smallest one digit number is
9 b. 1
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9. The 5™ letter in the word ORANGE is

A b. G

10. Which is greater 40 or 50
a. 50 b. 40

Q2. Solve the following.

5 4 7 6
+ 3 -1 -4 + 2
9 8 6 3
-0 +1 -2 +4

Q3. Arrange the following numbers in ascending order.

a. 29, 10, 36, 9, 19, 21
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Q4. Fill in the missing numbers.

a. 29, ) , 32,
b. 37, , 39,
c. 42, ) ) , 46,

Q5. Write the number name for the following numbers.

14

32

28

40

23

Q6. Compare the following set of numbers and write >, <, or= in the

blanks.
a 17 10 b. 24 14
c. 34 39 d. 45 25
e 20 30 f. 12 21
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8. 36 36 h. 41 14

Q7. Solve the following word problems.

Mary has 3 apples. Her mother gives her 2 more. Now, how

many apples does she have ?

apples

There were 4 cups. 2 cups broke. How many cups are left?

cups.
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Q8. Add on the number line.

3+5=

Q9. Fill in the blanks.

a. + 1= 9

b. 5 - = 5

Q10. Colour the second star pink, fourth star yellow and sixth star

brown.
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